Answers to Classwork — Operations on Functions

(f+2)(x)=5x-2 Df+g =(—oo,oo)
f-g)x)=x+4 fog :(—oo,oo)
(fe)(x) =6x> —Tx -3 D, = —oo,oo)
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(f+2)(x)=x*+2x-1 D,,, =(—oo,oo)
(f-g)(x)=—x"+2x—-7 D, :(—oo,oo)
(fg)(x) = 2x° — 4x* + 6x —12 Dy, =(-,»)
2x—4
(gj(x)z xyzc+3 Dé :(—oo,oo)
(f +8)(x) =x* +6x—4 D,., =(—oo,oo)
(f—g)(x)=x*+4x+8 D, :(—oo,oo)
(fe)(x) = x° —x* —28x —12 D, = (—oo,oo)
(o= D, ~(=-8)(6:)
g x—6 g ’ ’
(f +&)x) = (x_‘?j)ﬁ D, =(-0-2)U(-2.3)U(3.)
(f -~ &)x) = WZH) D, =(~0-2)U(-2.3)U(3.»)
(o)) = m D, =(~o0-2) U(-2,3)U(3,%)
(é](x) = (2;:; Dg = (—o0,—2) U (-2,3) U (3,)
(f +8)@) =x +x° -4 D,,, =[0.»)
(f - 9)@) =x —x* +4 D, , =[0,»)
(f2)(x) = (7 ~4) D, =[0,)
(Lj(x) = (x;/?4) Dg = [0,2) U(Z,oo)
g (fe8)x)= 18x” —48x +39 , (Fe8)x)= x® —10x + 24
(g o f)(x) =6x> +17 (g x)=x*+4x—4
2
(f g)(x)=x~ (f o g)(x )_3x+1
Y (go N = - 0.
(gof)(x)=
X+ 3




